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NEW QUESTION 21

Which two are &#8220;Are SP and Device Ready?& #8221; state algorithms for Enable Service? (Choose two.)
* Customer Device Compatibility Check

* Create Service Point

* Check for Measurement

* Create Usage Subscription

* Start Service Agreement

NEW QUESTION 22

On which three entities can proration be disabled? (Choose three.)
* Calculation Rule Business Object

* Bill Factor

* Calculation Rule

* Rate Version Calculation Group

* Rate Schedule

NEW QUESTION 23
Throughout its lifecycle, an asset& #8217;s disposition changes as it is moved between locations and service statuses.

Which are valid asset dispositions?

* Receiving; Installed; Storage; Retired
* |n Receipt; In Field; In Stores; Retired
* |n Receipt; Installed; In Stores; Retired
* Receiving; In Field; Storage; Retired

NEW QUESTION 24

Y our customer&#8217;s initial measurement data (IMD) has been imported and can be viewed through the M easuring Component
portal, but is not in the & #8220;Final & #8221; measurement status.

What can you assume that the IMD has passed?

* Critical Validation

* Multiplier Check Validation

* Sum Check Validation

* Critical Validation, High/Low Check Validation, and Sum Check Validation
* High/Low Check Validation

NEW QUESTION 25
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Which three statements are true in relation to Financial Transaction creation algorithms? (Choose three.)

* They control how the payoff balance is affected.

* They control when a Financia Transaction isto be swept onto a bill.

* They control how the General Ledger details are created as these must always exist against a Financial Transaction.
* They control if and how the General Ledger entries are created.

* They control how the current balance is affected.

NEW QUESTION 26

What can cause multiple bill lines for a rate component to be produced in abill calculation header?
* changes in Rate Schedule and Bill Factor

* changesin Rate Version Calculation Group and Bill Factor

* changein Bill Factor

* change in Rate Version Calculation Group

* change in Rate Schedule

NEW QUESTION 27

Usage transactions can contain date breaks. Which is used to supply date breaks?
* the Deferred Monitor Calculation Algorithm

* the Usage Subscription Type

* the requesting system or user input

* the Usage Subscription BO

NEW QUESTION 28

Approval Profiles control which aspects of an Adjustment?

* whether current and/or payoff balance are affected by the adjustment
*control how adjustments are approved

* if an adjustment requires approval before it&#8217;sfrozen

* information defaulted on an Adjustment

* whether the adjustment should appear on the customer& #8217;s next hill
Reference:

%20A djustment%20A pproval .pdf

NEW QUESTION 29

Which relationship must be established with an external system or a service provider before creating bill determinants?
* Usage Transaction

* Usage Rule

* Usage Subscription

* Usage Factor

NEW QUESTION 30

Which three statements are true about initial measurements, final measurements, and usage? (Choose three.)

* Usageisasynonym for bill determinants.
* Theinitial measurement data can be optionally stored in Raw format.
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* A service point can have more than one initial measurement for the same period, but only one final measurement.
* Final measurements can be directly edited or updated by users or by automated processes as required.
* Usage isloaded in the application to generate final measurements.

NEW QUESTION 31

How many devices can be installed at a service point at an instance in time?
* exactly one device

* up to three devices

* onefor each service type

* one for each measuring component

NEW QUESTION 32

What correctly describes the order in which algorithms, if plugged in, are executed when a bill changes from the

&#8220;Pending& #8221; state to the & #8220; Compl ete& #8221; state?

* Service Agreement Type &#8211; Pre-Bill Completion; Service Agreement Type &#8211; Bill Completion; Customer Class
&#38211; Pre-Bill Completion; Customer Class &#8211; Bill Completion; Customer Class & #8211; Post-Bill Completion

* Customer Class &#8211; Pre-Bill Completion; Customer Class &#8211; Bill Completion; Service Agreement Type &#8211; Pre-
Bill Completion; Service Agreement Type &#8211; Post-Bill Completion

* Customer Class &#8211; Pre-Bill Completion; Service Agreement Type &#8211; Pre-Bill Completion; Customer Class & #8211,
Bill Completion; Service Agreement Type &#8211; Bill Completion; Customer Class &#8211; Post-Bill Completion

* Service Agreement Type &#8211; Pre-Bill Completion; Customer Class &#3211; Pre-Bill Completion; Service Agreement Type
&#8211; Bill Completion; Customer Class &#8211; Bill Completion; Customer Class &#8211; Post-Bill Completion

* Service Agreement Type &#8211; Pre-Bill Completion; Customer Class &#8211; Pre-Bill Completion; Service Agreement Type
&#8211; Bill Completion; Customer Class &#8211; Bill Completion; Service Agreement Type &#8211; Post-Bill Completion;
Customer Class &#8211; Post-Bill Completion

NEW QUESTION 33

How many service agreements are linked to a severance process?

* all service agreements that are connected to the initiating overdue process

* one

* any number defined by the business user

* zero &#8211; accounts are linked to severance processes

* all service agreements that are connected to the initiating collection process

NEW QUESTION 34

When creating a new business object for a service point (SP), what items are required to be able to view and update the new
elements associated with the SP?

* Maintenance Object, Application Service, and Schema

* Schema, Validation Algorithm, and Maintenance Ul Map

* Display Ul Map, Display Map Service Script, and Maintenance Ul Map

* Validation Algorithm, Post Processing Algorithm, and Lifecycle

NEW QUESTION 35

Which two statements about usage subscription types are correct? (Choose two.)
* Usage subscription types define the main billing contact.
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* Usage subscription types define the time zone.
* Usage subscription types define the valid service point types.
* Usage subscription types define the recipient of the usage.

NEW QUESTION 36
There has been a meter exchange at a service point in the past year.

How many installation events exist for the service point for the past year?
* Two

* One

* Four

* None

* Three

NEW QUESTION 37

Which two plug-in spots can call the rating functionality using base package-supplied algorithm types? (Choose two.)
* Adjustment Type &#8211; Adjustment FT Creation

* Billable Charge Template

* Bill Segment Type &#8211; Bill Segment Create

* Adjustment Type &#8211; Generate

* Bill Segment Type &#8211; Bill Segment FT Creation

NEW QUESTION 38
A device has one or more measuring components that measure consumption, demand, or other values.

Which lists two attributes of a measuring component?
* Channel Multiplier and Channel 1D

* Channel 1D and Badge Number

* Serial Number and Badge Number

* Model and Serial Number

* Manufacturer and Model

NEW QUESTION 39

New: An electric utility is starting an Advanced Meter Infrastructure (AMI) roll-out for their residential customers. Theinitia plan
istoroll out devices from their manufacturer with potentially three different device models. The customer has not decided what
head-end systems they will use to communicate with these devices. Based on the customer&#8217;s initial roll-out strategy, the
devices will have to be configured consistently to support existing tariffs for billing.

Whichisavalid consideration to determine the setup of device type administrative data for this implementation?
* hilling usage rules

* the model number

* the device& #8217;s date of manufacturer

* valid head-end systems, valid device configuration types, and the electricity service type

NEW QUESTION 40
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How many Tenders can a Payment Event have?

* one Tender per Payment Event

* one Tender for each account the payment is applied to

* one Tender for each form of Payment submitted

* no Tenders for Payment Events, only Payment Segments
* no Tenders for Payment Events, only Payments
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